AERERMIERE
[RBAE#£-4—IILTLvia)- KR tE]
PFHV-P-DM-E(1)(-F)

PCHV(X,D,T)-P-DM-E(1)

(1) P140%2

1.00
5 0.90

(3) P28072

1.00
5 0.90

(2) P2247%, P265-Ff

~

0

20

40 60 80 100 120 140 160 180
RERLE m>

(4) P4507%, P530-FfiZ

, P167-FF2
~ 100
=] gggo.go
T —— R0.80
—— J
% 0.70
0.60
0 20 40 60 80 100 120
RERLE m>
, P335-FF2
. 100
——
. 5090
T 5080
=] &
%070
0.60
O 20 40 60 80 100 120 140 160 180

REELR m>

(5) P5607, P670-FfiZ

1.00
5 0.90

T~

0

20

(6) P670%2

. 100
e~ 090
E— e ﬁo.ao
E‘Eo.m
0.60
0 20 40 60 80 100 120 140 160 180

REELR m>

(7) P800, 16007z, P1000-Ff

40 60 80 100 120 140 160 180
RERLE m>

0

20

40 60 80 100 120 140 160 180
RERLE m>

(8) P1120%2, P1250-FH#Z

1.00 ~J 1.00 -
T~

ﬁg0.90 N §§0.90 e ——

%0.80 ~ — R0.80 E— L

%070 — %070

0.60 0.60
0 20 40 60 80 100 120 140 160 180 0 20 40 60 80 100 120 140 160 180

REHRLE <m> BEEHLE m>

(9) P1400%%, P1600-FH

1.00

5090 N

%0.80 —

®0.70 T

0.60
0 20 40 60 80 100 120 140 160 180

BEEHLE m>

[BLEHLRDRDHA]
(1) P140%2, P167-Ffi2 HER = (FERI=YIETOEREER) + (030 X BEERFONUFEH) m
(2) P224%4, P265-F#2 HER = (FERI=YIETOEREER) + (035 X BEERFONUFH) m
(3) P2807, P335-F HER = (FERI=YIETOEREER) + (042 X BEERRONUFEH) m
(4) P4507%, P530-F2 HER = (FERI=YIETOEREER) + (050 X BEERPONUFEH) m
(5) P5607%, P670-F2 HER = (FERI=YIETOEREER) + (050 X BEERFONUFEH) m
(6) P6707 HER = (FERI=YIETOEREER) + (050 X BEERRONUFEH) m
(7) P800TZ, P1600fi%, P100075-F #EALUE = (BERNIZYIETHEREEER) + (070 X BEEADOARUEH) m
(8) P1120%, P1250-FF2 HYEER = (FERNA-VIMETOEREER) + (080 x BBERFDOAUFEH) m
(9) P1400%, P1600-FF2 HYEER = (FERNA-VIMETOEREER) + (080 x BBERFDOAUFEH) m
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